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fe= jf’gdx+ jfg’dx
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j./'g dx=fg j/ g dx
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W9 2 f(x)=x -
L= a e RSl g(x)=—cosx <«

£l =1
g'(x)=

J.x sinx dx=—xcosx+ J- cos x dx

COEADIRS(E, BoEtENHEHICTES.
(&H) =—xcosx +sinx+C
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e Y f(x)=sinx — f’(x)= cosx
f@ dx DT3B g(x)=¢" &  g(x)=
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e Y il f(x)=¢e" -  fi(x)=é

B\ I A g(x)=—-cosx <« g'(x)=
jex sinx dx=—e* cos x+ Ie" cos x dx
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w9 D p(x)=¢" - p'(x)=¢€*

s Y il g(x)=sinx <« q'(x)=

e cosx dx =e*sinx— | e*sinx dx

HKATDE,
J.e"" sinx dx=—e”* cos x+e* sinx—J. e sinx dx
cZ7T, I= I e'sinxdry EHLE,

I=—e" cos x+e* sinx—I - (X CoXTIE [ (HMERTE
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2[=—e* cosx+e* sinx
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Ie" sinx dx= e’ sinx— Ie" cosx dx

FE2IHICDWT, B5—E, BInEDEZEITI D.
W3 BA  p(x)=cosx — p’(x)=—sinx
B9 2 g(x)=¢é* — q’'(x)=

J.ex cosx dx = e* cos x+ Ie" sinx dx
KATDE,
J.ex sinx dx=e* sinx—( e* cosx+I e“sinxdx )
cZc, I= I e*sinxdx &EBLE,
I=e* sinx—e”* cosx —1
2[= e* sinx—e” cos x
J= € (sinx—cosx), -
2
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Ie sinx dx= e”* sinx— J‘ef" cos x dx

= e’ sinx—( e’ sinx— J.e" sinx dx) = (}+J- e* sinx dx
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BAOENETHET BRI, f(x), g(x) DDI5, FE
BEONEB(TKESRVWAE, WD DEITENFHRON.
15, *IEMEEL logx (&, (BREDHE(ICRD>TWT

B) , MO IDAIBNETEDZENZLN.

jx dx

logx Z53 9 DITES.

RDEDC, 1 EDOBICHITDETEDEDNHD.

J. log x dx=j ‘logx dx

logx Z53 9 DITES.

WATEM  f(0)-logx  — [0

=Yl g(x)=x < g'(x)=

#o 9 B0 f(x)=logx = f'(x)= —i ______
2 logx dx=xlogx— dx =xlogx—x+C
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""" 2 2 2
x dv= Xlogx— X Lgx= Xlogx— Xy
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(1) Ix X dy=--= €2 x= )yc

| Check | Reset | Help |

(2)
e cos 2x dx=--- =€ (___sin2x+cos2x) ¢
| Check | Reset | Help |
(3)
Ixj logxdx=--=42 (_logx=1) 4¢

| Check | Reset | Help |
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